HPE_CIElO—Zanen—Erregung
log [S10,4MA0,51 10 {A)+0,5M10 {M}]

2, D65:55 19 1)=108,89
¥10,6°0,3126
y1015=0,3290
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HPE_CIElO—Zanen—Erregung
log [S10,4MA0,51 10 {A)+0,5M10 {M}]

2, D50:55 15 1)=82,49
¥10,6°0,3456
y1015=0,3585
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HPE_CIElO—Zanen—Erregung
log [S10,4MA0,51 10 {A)+0,5M10 {M}]

2, P40:55 1 d\)=64,68
¥10,60,3799
y1015=0,3764
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HPE_CIElO—Zanen—Erregung
log [S10,4MA0,51 10 {A)+0,5M10 {M}]

2, AQ0:35 10 d\)=35,58
%10,6°0,4475
y1015=0,4074
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HPE_CIElO—Zanen—Erregung
log [S10,4MA0,51 10 {A)+0,5M10 {M}]

2, E00:%S 10’5()\):100,00
X10,60,3333
y1015=0,3333
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HPE_CIElO—Zanen—Erregung
log [S10,4MA0,51 10 {A)+0,5M10 {M}]

2, C00:35 19 {N)=118,22
%10,60,3100
y1015=0,3161
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HPE_CIElO—Zanen—Erregung
log [S10,4MA0,51 10 {A)+0,5M10 {M}]

2, P00:Zs 10’5()\):81,06
X10,50,3604
y1015=0,353l
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HPE_CIElO—Zanen—Erregung
log [S10,4MA0,51 10 {A)+0,5M10 {M}]

2, QO0:35 19 {A)=123,00
%10,60,3070
y1015=0,3107
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